THAEE #HZBUHEAVLWVETEILE EXTIZHABE

B4 (H)

BEFB AEB HER—L BENEE EANEE
EERIEE XA 0 245,214,185 8,518,820 253,733,005
= R zsgasmaRA 0 580,000 0 580,000
2 ZIFEBRSEIA 352,323 643 85 353,051
E | A | ERHDIRA 0 2,788,734 0 2,788,734
3] FEERFHRAG () 352,323 248,583,562 8,518,905 257,454,790
< AHEXH 565,000 236,953,435 14,752,190 252,270,625
& *% |EXEXH 0 63,093,693 402,015 63,495,708
;“;’l EHREXH 19,280 54,135,819 332,582 54,487,681
% X R EXH 0 0 0 0
H (o 0 2,321,900 0 2,321,900
BEEXRFHIHE(2) 584,280 356,504,847 15,486,787 372,575,914
PERBESINZEES)=(1)-(2) -231,957 -107,921,285 -6,967,882 -115,121,124
AN L T ES N 0 16,483,000 0 16,483,000
6;& A | MR B U A 5H(4) 0 16,483,000 0 16,483,000
ll)zﬁTﬁ - RFEEEEAETREELH 0 0 0 0
%% | g |EEEERGI 0 5,249,915 0 5,249,915
z MR B iEEZ HET (5) 0 5,249,915 0 5,249,915
&| MEEBHEFESINZEELE(6)=(4)-(5) 0 11,233,085 0 11,233,085
- Uw (R HRAR- YA 0 8,292,690 3,000,000 11,292,690
£ P | A |20t FBIRAGT) 0 8,292,690 3,000,000 11,292,690
62";’ X |RIL-YRBRA-ZOH 0 11,557,820 207,960 11,765,780
"é}i H | Do FEEN X HEHS) 0 11,557,820 207,960 11,765,780
| zothoEsELINTEE(9) =(7)-(8) 0 -3,265,130 2,792,040 -473,090
LHAE U EZE A FT(11)=(3)+(6)+(9) -231,957 -99,953,330 -4,175,842 -104,361,129
AR ZILVESES(12) 4,321,381 730,789,869 11,727,233 746,838,483
LRI EEES(13)=>011)+(12) 4,089,424 630,836,539 7,551,391 642,477,354

SHAEE #SBILEAVNWNETRAS EXEEHMEE

B4 ()

BEFB AEB HER—L BENEIE BEANEE
MaE% v € AU AR 0 166,363,930 0 166,363,930
Iy [/BEMEXREEAN L 0 0 8,258,670 8,258,670
F B35 2 F1 A I AR 0 45,645,559 0 45,645,559
*f 2 2dLIDEEINE 0 33,204,696 260,150 33,464,846
E |z RERTHH S 0 580,000 0 580,000
z Z Db DU F 0 421,330 0 421,330
& H—E RFBIREEET (1) 0 246,215,515 8,518,820 254,734,335
B A& 565,000 237,054,565 14,979,150 252,598,715
?% EXE 0 63,093,693 402,015 63,495,708
’g B =nsa 19,280 54,135,819 332,582 54,487,681
5 i (M 55 50 % 0 96,296,569 810,115 97,106,684
i | EERABEF AL SR 0 -48,912,576 -810,115 -49,722,691
Z DD E R 0 169,546 0 169,546
H—EXEBE R (2) 584,280 401,837,616 15,713,747 418,135,643
H—E R EEIE R ZEZA(3)=(1)-(2) -584,280 -155,622,101 -7,194,927 -163,401,308
*If I A B U 352,323 643 85 353,051
E |2 ZFD DY —E ZESH UL 0 2,536,950 0 2,536,950
z H—E X EB SR ETH4) 352,323 2,537,593 85 2,890,001
g & ZIFIE 0 0 0 0
5 | g ZFDDY—E REENEH 0 2,321,900 0 2,321,900
12 Y —E RGBS B FE(5) 0 2,321,900 0 2,321,900
ff Y —E REB) S 1 = 5B (6)=(4)—(5) 352,323 215,693 85 568,101
B BEEZELT)=(3)+(6) -231,957 -155,406,408 -7,194,842 -162,833,207
B | IR |EEREBHmEwEEE-UEA 0 16,483,000 3,000,000 19,483,000
ﬂ I | RIS 5L (8) 0 16,483,000 3,000,000 19,483,000
w | B [EEWBERET - YA - 055 0 3,750,000 0 3,750,000
o | A [B3ER ) 0 3,750,000 0 3,750,000
i A8 E 2= %8(10)=(8)-(9) 0 12,733,000 3,000,000 15,733,000
= HA R B R 2 &R (11)=(7)+(10) -231,957 -142,673,408 -4,194,842 -147,100,207
& AR E NS R EEE(12) 4,321,381 1,252,812,144 10,685,234 1,267,818,759
=8 LHREBEREEERE(13)=(11)+(12) 4,089,424 1,110,138.736 6,490,392 1,120,718,552
fg ZF D DFEII £ EEAZA(15) 0 2,741,000 0 2,741,000
&0 ZTDMDIELEFEILEE(16) 0 2,477,000 0 2,477,000
B | RERRRHE BN R ZE R (17) =(13)+(15)-(16) 4,089,424 1,110,402,736 6,490,392 1,120,982,552




